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NEW QUESTION 1

A developer is incorporating AWS X-Ray into an application that handles personal identifiable information (Pll). The application is hosted on Amazon EC2
instances. The application trace messages include encrypted PII and go to Amazon CloudWatch. The developer needs to ensure that no PIl goes outside of the
EC2 instances.

Which solution will meet these requirements?

A. Manually instrument the X-Ray SDK in the application code.
B. Use the X-Ray auto-instrumentation agent.

C. Use Amazon Macie to detect and hide PI

D. Call the X-Ray API from AWS Lambda.

E. Use AWS Distro for Open Telemetry.

Answer: B

NEW QUESTION 2

A company is running Amazon EC2 instances in multiple AWS accounts. A developer needs to implement an application that collects all the lifecycle events of the
EC2 instances. The application needs to store the lifecycle events in a single Amazon Simple Queue Service (Amazon SQS) queue in the company's main AWS
account for further processing.

Which solution will meet these requirements?

A. Configure Amazon EC2 to deliver the EC2 instance lifecycle events from all accounts to the Amazon EventBridge event bus of the main accoun
B. Add an EventBridge rule to the event bus of the main account that matches all EC2 instance lifecycle event

C. Add the SQS queue as a target of the rule.

D. Use the resource policies of the SQS queue in the main account to give each account permissions to write to that SQS queu

E. Add to the Amazon EventBridge event bus of each account an EventBridge rule that matches all EC2 instance lifecycle event

F. Add the SQS queue in the main account as a target of the rule.

G. Write an AWS Lambda function that scans through all EC2 instances in the company accounts to detect EC2 instance lifecycle change

H. Configure the Lambda function to write a notification message to the SQS queue in the main account if the function detects an EC2 instance lifecycle chang
I. Add an Amazon EventBridge scheduled rule that invokes the Lambda function every minute.

J. Configure the permissions on the main account event bus to receive events from all account

K. Create an Amazon EventBridge rule in each account to send all the EC2 instance lifecycle events to the main account event bu

L. Add an EventBridge rule to themain account event bus that matches all EC2 instance lifecycle event

M. Set the SQS queue as a target for the rule.

Answer: D

NEW QUESTION 3

A developer is creating an application that will give users the ability to store photos from their cellphones in the cloud. The application needs to support tens of
thousands of users. The application uses an Amazon API Gateway REST API that is integrated with AWS Lambda functions to process the photos. The
application stores details about the photos in Amazon DynamoDB.

Users need to create an account to access the application. In the application, users must be able to upload photos and retrieve previously uploaded photos. The
photos will range in size from 300 KB to 5 MB.

Which solution will meet these requirements with the LEAST operational overhead?

A. Use Amazon Cognito user pools to manage user account

B. Create an Amazon Cognito user pool authorizer in APl Gateway to control access to the AP

C. Use the Lambda function to store the photos and details in the DynamoDB tabl

D. Retrieve previously uploaded photos directly from the DynamoDB table.

E. Use Amazon Cognito user pools to manage user account

F. Create an Amazon Cognito user pool authorizer in APl Gateway to control access to the AP

G. Use the Lambda function to store the photos in Amazon S3. Store the object's S3 key as part of the photo details in the DynamoDB tabl
H. Retrieve previously uploaded photos by querying DynamoDB for the S3 key.

I. Create an IAM user for each user of the application during the sign-up proces

J. Use IAM authentication to access the API Gateway AP

K. Use the Lambda function to store the photos in Amazon S3. Store the object's S3 key as part of the photo details in the DynamoDB tabl
L. Retrieve previously uploaded photos by querying DynamoDB for the S3 key.

M. Create a users table in DynamoD

N. Use the table to manage user account

O. Create a Lambda authorizer that validates user credentials against the users tabl

P. Integrate the Lambda authorizer with APl Gateway to control access to the AP

Q. Use the Lambda function to store the photos in Amazon S3. Store the object's S3 key as par of the photo details in the DynamoDB tabl
R. Retrieve previously uploaded photos by querying DynamoDB for the S3 key.

Answer: B

NEW QUESTION 4

A company needs to harden its container images before the images are in a running state. The company's application uses Amazon Elastic Container Registry
(Amazon ECR) as an image registry. Amazon Elastic Kubernetes Service (Amazon EKS) forcompute, and an AWS CodePipeline pipeline that orchestrates a
continuous integration and continuous delivery (CI/CD) workflow.

Dynamic application security testing occurs in the final stage of the pipeline after a new image is deployed to a development namespace in the EKS cluster. A
developer needs to place an analysis stage before this

deployment to analyze the container image earlier in the CI/CD pipeline.

Which solution will meet these requirements with the MOST operational efficiency?

A. Build the container image and run the docker scan command locall

B. Mitigate any findings before pushing changes to the source code repositor

C. Write a pre-commit hook that enforces the use of this workflow before commit.
D. Create a new CodePipeline stage that occurs after the container image is buil
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E. Configure ECR basic image scanning to scan on image pus

F. Use an AWS Lambda function as the action provide

G. Configure the Lambda function to check the scan results and to fail the pipeline if there are findings.

H. Create a new CodePipeline stage that occurs after source code has been retrieved from its repository.Run a security scanner on the latest revision of the
source cod

I. Fail the pipeline if there are findings.

J. Add an action to the deployment stage of the pipeline so that the action occurs before the deployment to the EKS cluste

K. Configure ECR basic image scanning to scan on image pus

L. Use an AWS Lambda function as the action provide

M. Configure the Lambda function to check the scan results and to fail the pipeline if there are findings.

Answer: D

NEW QUESTION 5

A developer wants to store information about movies. Each movie has a title, release year, and genre. The movie information also can include additional properties
about the cast and production crew. This additional information is inconsistent across movies. For example, one movie might have an assistant director, and
another movie might have an animal trainer.

The developer needs to implement a solution to support the following use cases:

For a given title and release year, get all details about the movie that has that title and release year. For a given title, get all details about all movies that have that
title.

For a given genre, get all details about all movies in that genre. Which data store configuration will meet these requirements?

A. Create an Amazon DynamoDB tabl

B. Configure the table with a primary key that consists of the title as the partition key and the release year as the sort ke

C. Create a global secondary index that uses the genre as the partition key and the title as the sort key.

D. Create an Amazon DynamoDB tabl

E. Configure the table with a primary key that consists of the genre as the partition key and the release year as the sort ke

F. Create a global secondary index that uses the title as the partition key.

G. On an Amazon RDS DB instance, create a table that contains columns for title, release year, and genre.Configure the title as the primary key.

H. On an Amazon RDS DB instance, create a table where the primary key is the title and all other data is encoded into JSON format as one additional column.

Answer: A

NEW QUESTION 6
A developer has written an AWS Lambda function. The function is CPU-bound. The developer wants to ensure that the function returns responses quickly.
How can the developer improve the function's performance?

A. Increase the function's CPU core count.

B. Increase the function's memory.

C. Increase the function's reserved concurrency.
D. Increase the function's timeout.

Answer: B

NEW QUESTION 7

A company has an application that uses Amazon Cognito user pools as an identity provider. The company must secure access to user records. The company has
set upmulti-factor authentication (MFA). The company also wants to send a login activity notification by email every time a user logs in.

What is the MOST operationally efficient solution that meets this requirement?

A. Create an AWS Lambda function that uses Amazon Simple Email Service (Amazon SES) to send the email notificatio

B. Add an Amazon AP| Gateway API to invoke the functio

C. Call the API from the client side when login confirmation is received.

D. Create an AWS Lambda function that uses Amazon Simple Email Service (Amazon SES) to send theemail notificatio

E. Add an Amazon Cognito post authentication Lambda trigger for the function.

F. Create an AWS Lambda function that uses Amazon Simple Email Service (Amazon SES) to send the email notificatio

G. Create an Amazon CloudWatch Logs log subscription filter to invoke the function based on the login status.

H. Configure Amazon Cognito to stream all logs to Amazon Kinesis Data Firehos

I. Create an AWS Lambda function to process the streamed logs and to send the email notification based on the login status of each user.

Answer: B

NEW QUESTION 8

A developer is building a web application that uses Amazon API Gateway to expose an AWS Lambda function to process requests from clients. During testing, the
developer notices that the APl Gateway times out even though the Lambda function finishes under the set time limit.

Which of the following API Gateway metrics in Amazon CloudWatch can help the developer troubleshoot the issue? (Choose two.)

A. CacheHitCount

B. IntegrationLatency
C. CacheMissCount
D. Latency

E. Count

Answer: BD

NEW QUESTION 9

A developer is designing an AWS Lambda function that creates temporary files that are less than 10 MB during invocation. The temporary files will be accessed
and modified multiple times during invocation. The developer has no need to save or retrieve these files in the future.

Where should the temporary files be stored?
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A. the /tmp directory

B. Amazon Elastic File System (Amazon EFS)
C. Amazon Elastic Block Store (Amazon EBS)
D. Amazon S3

Answer: A

NEW QUESTION 10

A company is planning to securely manage one-time fixed license keys in AWS. The company's development team needs to access the license keys in automaton
scripts that run in Amazon EC2 instances and in AWS CloudFormation stacks.

Which solution will meet these requirements MOST cost-effectively?

A. Amazon S3 with encrypted files prefixed with “config”

B. AWS Secrets Manager secrets with a tag that is named SecretString
C. AWS Systems Manager Parameter Store SecureString parameters
D. CloudFormation NoEcho parameters

Answer: C

NEW QUESTION 10
A developer is writing an AWS Lambda function. The developer wants to log key events that occur while the Lambda function runs. The developer wants to include
a unique identifier to associate the events with a specific function invocation. The developer adds the following code to the Lambda function:

function handler (event, context) |
Which solution will meet this requirement?

A. Obtain the request identifier from the AWS request ID field in the context objec
B. Configure the application to write logs to standard output.

C. Obtain the request identifier from the AWS request ID field in the event objec
D. Configure the application to write logs to a file.

E. Obtain the request identifier from the AWS request ID field in the event objec
F. Configure the application to write logs to standard output.

G. Obtain the request identifier from the AWS request ID field in the context objec
H. Configure the application to write logs to a file.

Answer: D

NEW QUESTION 14

A company is migrating an on-premises database to Amazon RDS for MySQL. The company has read-heavy workloads. The company wants to refactor the code
to achieve optimum read performance for queries.

Which solution will meet this requirement with LEAST current and future effort?

. Use a multi-AZ Amazon RDS deploymen
. Increase the number of connections that the code makes to the database or increase the connection pool size if a connection pool is in use.
. Use a multi-AZ Amazon RDS deploymen
. Modify the code so that queries access the secondary RDS instance.
Deploy Amazon RDS with one or more read replica
Modify the application code so that queries use the URL for the read replicas.
. Use open source replication software to create a copy of the MySQL database on an Amazon EC2 instanc
. Modify the application code so that queries use the IP address of the EC2 instance.

IOMmMOOw>

Answer: B

NEW QUESTION 16
For a deployment using AWS Code Deploy, what is the run order of the hooks for in-place deployments?

A. Beforelnstall -> ApplicationStop -> ApplicationStart -> AfterInstalll
B. ApplicationStop -> Beforelnstall -> Afterinstall -> ApplicationStart
C. Beforelnstall -> ApplicationStop -> ValidateService -> ApplicationStart
D. ApplicationStop -> Beforelnstall -> ValidateService -> ApplicationStart

Answer: A

NEW QUESTION 21

A developer is creating a mobile app that calls a backend service by using an Amazon API Gateway REST API. For integration testing during the development
phase, the developer wants to simulate different backend responses without invoking the backend service.

Which solution will meet these requirements with the LEAST operational overhead?

A. Create an AWS Lambda functio

B. Use API Gateway proxy integration to return constant HTTP responses.

C. Create an Amazon EC2 instance that serves the backend REST API by using an AWS CloudFormation template.
D. Customize the API Gateway stage to select a response type based on the request.

E. Use a request mapping template to select the mock integration response.

Answer: B
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NEW QUESTION 24

A company is implementing an application on Amazon EC2 instances. The application needs to process incoming transactions. When the application detects a
transaction that is not valid, the application must send a chat message to the company's support team. To send the message, the application needs to retrieve the
access token to authenticate by using the chat API.

A developer needs to implement a solution to store the access token. The access token must be encrypted at rest and in transit. The access token must also be
accessible from other AWS accounts.

Which solution will meet these requirements with the LEAST management overhead?

A. Use an AWS Systems Manager Parameter Store SecureString parameter that uses an AWS Key Management Service (AWS KMS) AWS managed key to store
the access toke

B. Add a resource-based policy to the parameter to allow access from other account

C. Update the IAM role of the EC2 instances with permissions to access Parameter Stor

D. Retrieve the token from Parameter Store with the decrypt flag enable

E. Use the decrypted access token to send the message to the chat.

F. Encrypt the access token by using an AWS Key Management Service (AWS KMS) customer managed ke

G. Store the access token in an Amazon DynamoDB tabl

H. Update the IAM role of the EC2 instanceswith permissions to access DynamoDB and AWS KM

I. Retrieve the token from DynamoD

J. Decrypt the token by using AWS KMS on the EC2 instance

K. Use the decrypted access token to send the message to the chat.

L. Use AWS Secrets Manager with an AWS Key Management Service (AWS KMS) customer managed key to store the access toke
M. Add a resource-based policy to the secret to allow access from other account

N. Update the IAM role of the EC2 instanceswith permissions to access Secrets Manage

O. Retrieve the token from Secrets Manage

P. Use the decrypted access token to send the message to the chat.

Q. Encrypt the access token by using an AWS Key Management Service (AWS KMS) AWS managed key.Store the access token in an Amazon S3 bucke
R. Add a bucket policy to the S3 bucket to allow access from other account

S. Update the IAM role of the EC2 instances with permissions to access Amazon S3 and AWS KM

T. Retrieve the token from the S3 bucke

. Decrypt the token by using AWS KMS on the EC2 instance

. Use the decrypted access token to send the massage to the chat.

Answer: B

NEW QUESTION 26

A developer maintains an Amazon API Gateway REST API. Customers use the API through a frontend Ul and Amazon Cognito authentication.

The developer has a new version of the API that contains new endpoints and backward-incompatible interface changes. The developer needs to provide beta
access to other developers on the team without affecting customers.

Which solution will meet these requirements with the LEAST operational overhead?

A. Define a development stage on the APl Gateway AP

B. Instruct the other developers to point the endpoints to the development stage.

C. Define a new API Gateway API that points to the new API application cod

D. Instruct the other developers to point the endpoints to the new API.

E. Implement a query parameter in the API application code that determines which code version to call.
F. Specify new API Gateway endpoints for the API endpoints that the developer wants to add.

Answer: A

NEW QUESTION 28

A developer is using AWS Amplify Hosting to build and deploy an application. The developer is receiving an increased number of bug reports from users. The
developer wants to add end-to-end testing to the application to eliminate as many bugs as possible before the bugs reach production.

Which solution should the developer implement to meet these requirements?

A. Run the amplify add test command in the Amplify CLI.

B. Create unit tests in the applicatio

C. Deploy the unit tests by using the amplify push command in the Amplify CLI.
D. Add a test phase to the amplify.yml build settings for the application.

E. Add a test phase to the aws-exports.js file for the application.

Answer: C

NEW QUESTION 30

A company is building a serverless application on AWS. The application uses an AWS Lambda function to process customer orders 24 hours a day, 7 days a
week. The Lambda function calls an external vendor's HTTP API to process payments.

During load tests, a developer discovers that the external vendor payment processing APl occasionally times out and returns errors. The company expects that
some payment processing API calls will return errors.

The company wants the support team to receive notifications in near real time only when the payment processing external API error rate exceed 5% of the total
number of transactions in an hour. Developers need to use an existing Amazon Simple Notification Service (Amazon SNS) topic that is configured to notify the
support team.

Which solution will meet these requirements?

A. Write the results of payment processing API calls to Amazon CloudWatc

B. Use Amazon CloudWatch Logs Insights to query the CloudWatch log

C. Schedule the Lambda function to check the CloudWatch logs and notify the existing SNS topic.

D. Publish custom metrics to CloudWatch that record the failures of the external payment processing APIcall
E. Configure a CloudWatch alarm to notify the existing SNS topic when error rate exceeds the specified rate.
F. Publish the results of the external payment processing API calls to a new Amazon SNS topi

G. Subscribe the support team members to the new SNS topic.
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H. Write the results of the external payment processing API calls to Amazon S3. Schedule an Amazon Athena query to run at regular interval
I. Configure Athena to send notifications to the existing SNS topic when the error rate exceeds the specified rate.

Answer: B

NEW QUESTION 33

A development team maintains a web application by using a single AWS CloudFormation template. The template defines web servers and an Amazon RDS
database. The team uses the Cloud Formation template to deploy the Cloud Formation stack to different environments.

During a recent application deployment, a developer caused the primary development database to be dropped and recreated. The result of this incident was a loss
of data. The team needs to avoid accidental database deletion in the future.

Which solutions will meet these requirements? (Choose two.)

A. Add a CloudFormation Deletion Policy attribute with the Retain value to the database resource.
B. Update the CloudFormation stack policy to prevent updates to the database.

C. Modify the database to use a Multi-AZ deployment.

D. Create a CloudFormation stack set for the web application and database deployments.

E. Add a Cloud Formation DeletionPolicy attribute with the Retain value to the stack.

Answer: AD

NEW QUESTION 35

An application uses an Amazon EC2 Auto Scaling group. A developer notices that EC2 instances are taking a long time to become available during scale-out
events. The UserData script is taking a long time to run.

The developer must implement a solution to decrease the time that elapses before an EC2 instance becomes available. The solution must make the most recent
version of the application available at all times and must apply all available security updates. The solution also must minimize the number of images that are
created. The images must be validated.

Which combination of steps should the developer take to meet these requirements? (Choose two.)

A. Use EC2 Image Builder to create an Amazon Machine Image (AMI). Install all the patches and agents that are needed to manage and run the applicatio

B. Update the Auto Scaling group launch configuration to use the AMI.

C. Use EC2 Image Builder to create an Amazon Machine Image (AMI). Install the latest version of the application and all the patches and agents that are needed
to manage and run the applicatio

D. Update the Auto Scaling group launch configuration to use the AMI.

E. Set up AWS CodeDeploy to deploy the most recent version of the application at runtime.

F. Set up AWS CodePipeline to deploy the most recent version of the application at runtime.

G. Remove any commands that perform operating system patching from the UserData script.

Answer: AB

NEW QUESTION 39

A developer has a legacy application that is hosted on-premises. Other applications hosted on AWS depend on the on-premises application for proper functioning.
In case of any application errors, the developer wants to be able to use Amazon CloudWatch to monitor and troubleshoot all applications from one place.

How can the developer accomplish this?

A. Install an AWS SDK on the on-premises server to automatically send logs to CloudWatch.

B. Download the CloudWatch agent to the on-premises serve

C. Configure the agent to use 1AM user credentials with permissions for CloudWatch.

D. Upload log files from the on-premises server to Amazon S3 and have CloudWatch read the files.

E. Upload log files from the on-premises server to an Amazon EC2 instance and have the instance forward the logs to CloudWatch.

Answer: B

NEW QUESTION 43

A developer is creating an AWS CloudFormation template to deploy Amazon EC2 instances across multiple AWS accounts. The developer must choose the EC2
instances from a list of approved instance types.

How can the developer incorporate the list of approved instance types in the CloudFormation template?

A. Create a separate CloudFormation template for each EC2 instance type in the list.

B. In the Resources section of the CloudFormation template, create resources for each EC2 instance type in the list.
C. In the CloudFormation template, create a separate parameter for each EC2 instance type in the list.

D. In the CloudFormation template, create a parameter with the list of EC2 instance types as AllowedValues.

Answer: D

NEW QUESTION 45
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